Sample questions for last part of course material, 12/08/03

Question I

The following three different debt strategies are being considered by a corporate borrower.  Each is intended to provide $1,000,000 in financing for a three-year period.

Strategy # 1: Borrow $1,000,000 for three years a fixed rate of interest of 7%.

Strategy # 2: Borrow $1,000,000 for three years at a floating rate of LIBOR +2%, to be reset annually.  The current LIBOR rate is 3.50%

Strategy # 3: Borrow $1,000,000 for one year at a fixed rate, and then renew the credit annually.  The current one-year rate is 5%.

Which strategy (strategies) will eliminate credit risk? Which one will eliminate repricing risk?

Question II

Suppose you, as a financial manager of a firm, have a variable rate loan outstanding. If you wish to protect the firm against an unfavorable increase in interest rates what could you do? Please describe one strategy involving use of interest rate futures and one strategy involving use of interest rate swaps?

Question III

Polaris is taking out a $5,000,000 one-year loan at a variable rate of LIBOR plus 1.00%. The current LIBOR rate is 4.00% per year.  The loan has an upfront fee of 2.00%.

	
	Year 0
	Year 1

	LIBOR (Floating)
	4.00%
	4.00%

	Spread (Fixed)
	1.00%
	1.00%

	Total Interest Payable
	5.00%
	5.00%

	Interest Cash Flows on Loan
	

	LIBOR (Floating)
	
	($200,000)

	Spread (Fixed)
	
	($50,000)

	Total Interest
	
	($250,000)

	Loan Proceeds (Repayment)
	$4,900,000
	($5,000,000)

	Total Loan Cash Flows
	$4,900,000
	($5,250,000)


What is the all-in-cost (i.e., the internal rate of return) of the Polaris loan including the LIBOR rate, fixed spread and upfront fee?

Question IV

Why capital budgeting for a foreign project is more complex than for a domestic project?

Question V

Given a current spot rate of 8.10 Norwegian krone per dollar, expected inflation rates of 6% in Norway and 3% per annum in the U.S., use the formula for relative purchasing power parity estimate the one-year spot rate of krone per dollar?

Questions VI

Provide at least three reasons why the parent’s viewpoint is superior to the local viewpoint when preparing a capital budget and give an example of when the local viewpoint fails to maximize the value of the firm.
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